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Question Number : 1 Question Id : 68019111744 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

On a hot summer day while travelling in a bus you notice a distant patch of road which appears

to be wet. this phenomenon of mirage 1s due to:

1. Chromatic aberration
2. Rayleigh scattering

3. Total internal reflection
4. Mie scattering

Options :

68019146301. 1
68019146302. 2
68019146303. 3
68019146304. 4

Question Number : 1 Question Id : 68019111744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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1. qfties faue

2. W YHIUA (Rayleigh scattering)
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Options :

68019146301. 1
68019146302. 2
68019146303. 3

68019146304. 4

Question Number : 2 Question Id : 68019111745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the principal gases of dry air in the decreasing order of their abundance in the
amosphere of the Earth.

(A). Krypton

(B). Argon

(C). Methane

(D). Carbon dioxide

Choose the correct answer from the options given below:

(A). (B
(B). (D
3.(A). (B
4.(C). (B

(C). (D).
(C). (A).
(D). (C).

).
).
).
), (D). (A).

Options :

68019146305. 1
68019146306. 2
68019146307. 3

68019146308. 4

Question Number : 2 Question Id : 68019111745 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

U5 an & W 1191 &1 gt & argred 1 S WeRd] & SR IR U B § ogafyd
G

A
A
3. (A
4.

Options :

68019146305. 1
68019146306. 2
68019146307. 3
68019146308. 4

Question Number : 3 Question Id : 68019111746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are most suitable conditions for photochemical smog formation in
ambient atmosphere?

1. SO, water vapours. sunlight (T>25°C)
2. NO,, water vapours, sunlight (T>25°C)
3. NO,. volatile hydrocarbons. sunlight (T>25°C)

4. 80,, fog, volatile hydrocarbons, sunlight (T<25°C)
Options:
680191463009. 1
68019146310. 2
68019146311. 3

68019146312. 4



Question Number : 3 Question Id : 68019111746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR arHse H VeI Y 6 o fau Hafalad 3 9 oH-dl Rufd 9eg
SUYH §7

1. S0, . SId a1, U BT YebTe (T>25°C)

2. NO, , 5fe1 arsd, 4 &1 YT (T>25°C)

3. NO, . AR BIE g obTaH, T2 &I YRl (T>25°C)

1. 50, . DI, AT SIS DTaH, T4 BT USRI (T<25°C)

Options :

68019146309. 1
68019146310. 2
68019146311. 3

68019146312. 4

Question Number : 4 Question Id : 68019111747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The potential energy of a system of four particles (mass 'm') placed at the vertices of a square of
side ' would be

1.1.414 Gm? /1
2.5.41 Gm? /1
3.-1.414 Gm? /|
4.-541 Gm?® /|
Options :
68019146313. 1
68019146314. 2
68019146315. 3

68019146316. 4



Question Number : 4 Question Id : 68019111747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Yofl ' T o7l o i1 OR T T IR DU (So0HH 'm') & T 1 Ryfas ot gt

1.1.414 Gm? /1
2.5.41 Gm? /1
3.-1.414 Gm? /1
4.-541 Gm? /1
Options :

68019146313. 1
68019146314. 2
68019146315. 3

68019146316. 4

Question Number : 5 Question Id : 68019111748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT a criteria pollutant under National Ambient Air Quality
Standards in India?

. Carbon monoxide

. Carbon dioxide

. Ground-level ozone
PMy,

e R o B

Options:

68019146317. 1
68019146318. 2
68019146319. 3
68019146320. 4

Question Number : 5 Question Id : 68019111748 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019146317. 1
68019146318. 2
68019146319. 3

68019146320. 4

Question Number : 6 Question Id : 68019111749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Average ocean salinity of 35 ppt can also be expressed as

.35%

.3.5%

35 x 10712
4. 0.35%

Options :

| I

L]

68019146321. 1
68019146322. 2
68019146323. 3

68019146324. 4

Question Number : 6 Question Id : 68019111749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



35 ppt @ A ERPRG @RS & =g it orad fearon
qHar gl

. 35%

1
2.3.5%
3

3.35 x 10712
4.0.35%

Options :

68019146321. 1
68019146322. 2
68019146323. 3

68019146324. 4

Question Number : 7 Question Id : 68019111750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consider following list of processes, L= {P; . P; . P; . P4} having CPU bursts. T={ 6. 8. 7. 4}

in milliseconds. Applying shortest job first CPU scheduling, compute the average waiting time.

1. 6.75 milliseconds
2. 7.25 mulliseconds
3. 7.75 milliseconds
4. 6.25 mulliseconds

Options :

68019146325. 1
68019146326. 2
68019146327. 3

68019146328. 4

Question Number : 7 Question Id : 68019111750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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6.75 e s
7.25 (e s
7.75 (a8
4.6.25 g s

Options:

b =

o

68019146325. 1
68019146326. 2
68019146327. 3
68019146328. 4

Question Number : 8 Question Id : 68019111751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The hotter objects radiate more total energy per unit area than do colder objects. This concept 13
referred to as

1. Wien's displacement law
2. Kirchoff's law

3. Kepler's law

4. Stefan-Boltzman law

Options :

68019146329. 1
68019146330. 2
68019146331. 3

68019146332. 4

Question Number : 8 Question Id : 68019111751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019146329. 1
68019146330. 2
68019146331. 3
68019146332. 4

Question Number : 9 Question Id : 68019111752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Electromagnetic radiation){(Resulting interaction with atom/molecule)
A [UV-Visible I [Vibrational motion
B. |Infrared I1. |Ejection of internal electron
C. |Microwave III. |Ejection of outer electron
D [X-rays IV. |Rotational motion

Choose the correct answer from the options given below:

1. (A)- (D). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (II1). (B) - (I). (C) - (IV), (D) - (II)
(A) - (II). (B) - (I). (C) - (IV). (D) - (I)
4. (A)-(IV), (B) - (IT). (C) - (II). (D) - (I)

L]

Options :

68019146333. 1
68019146334. 2
68019146335. 3
68019146336. 4



Question Number : 9 Question Id : 68019111752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)

2. (A) - (D). (B) - (I). (C) - (IV). (D) - (II)

3. (A) - (TII). (B) - I). (C) - (IV). (D) - (I)

4. (A) - (IV). (B) - (IT). (C) - (II). (D) - (I)
Options:
68019146333. 1
68019146334. 2
68019146335. 3
68019146336. 4

Question Number : 10 Question Id : 68019111753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cyclonic circulation denotes

(A). Counterclockwise circulation in the northern hemisphere
(B). Clockwise circulation in the northern hemisphere

(C). Clockwise circulation in the southern hemisphere

(D). Counterclockwise circulation in the southern hemisphere
Choose the correct answer from the options given below:

. (B) only.
. (B) and (D) only:.
. (A) and (C) only.
. (D) only.

o =

e oo



Options :

68019146337. 1
68019146338. 2
68019146339. 3

68019146340. 4

Question Number : 10 Question Id : 68019111753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. ®ad (B)
2. %dd (B) 3R (D)
3.%dd (A) 3R (C)
4.%ad (D)

Options:

68019146337. 1
68019146338. 2
68019146339. 3

68019146340. 4

Question Number : 11 Question Id : 68019111754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s not a consequnce of increasing acidification of oceans?

. adverse effects on growth and survival of calcareous phytoplanktons

. adverse effects on growth and survival of coral reefs

. adverse effects on cloud seedling and formation

4. adverse effects on survival of animals those have phytoplanktonic larvae

| S

L

Options :

68019146341. 1
68019146342. 2
68019146343. 3

68019146344. 4

Question Number : 11 Question Id : 68019111754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. BicRTH! Brgeelide & e 3R 3kl R Uldge THIa
2. yard fHfal & faer iR 31 R ufdod yyd

3. PiH 91 3R 9169 g7+ W Ufdpd UHE

4. Bl idbel-db qrdl aldl oiFaR] & 3fid R Yiadd HuTa

Options :

68019146341. 1
68019146342. 2
68019146343. 3

68019146344. 4

Question Number : 12 Question Id : 68019111755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The average decrease of ~0.5° C i temperature per kilometer in the troposphere 1s referred to as

1. Temperature inversion
2. Environmental lapse rate
3. Adiabatic lapse rate

4. Geothermal gradient

Options :

68019146345. 1
68019146346. 2
68019146347. 3

68019146348. 4

Question Number : 12 Question Id : 68019111755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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1. AU "iddieH
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Options :
68019146345. 1
68019146346. 2
68019146347. 3

68019146348. 4

Question Number : 13 Question Id : 68019111756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In rate-monotonic scheduling. the worst -case CPU utilisation achieved for execution of N
processes can be expressed as

.28

W pat

3.N (2N-1)
4, NIN)

Options :

68019146349. 1
68019146350. 2
68019146351. 3

68019146352. 4

Question Number : 13 Question Id : 68019111756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RC-HHIClS SFEEA H. N Widhara & (e & fig T §6€ Wd CPU I Dl
& & H oued o o 9@l o

1.2N

2. (2%
3.N (2N-1)
4. N

Options:

68019146349. 1
68019146350. 2
68019146351.3

68019146352. 4

Question Number : 14 Question Id : 68019111757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The occurrence of aurora borealis and aurora australis takes place in the

1. Troposphere
2. Stratosphere
3. Thermosphere
. Tropopause

s

Options :

68019146353. 1
68019146354. 2
68019146355. 3

68019146356. 4

Question Number : 14 Question Id : 68019111757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
IR yd S R 2R yd S & g g g
1. &hsd
2. JHAYHSA
3. d9HS
4. &Iy
Options :
68019146353. 1
68019146354. 2
68019146355. 3

68019146356. 4

Question Number : 15 Question Id : 68019111758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following green house gases in increasing order of their contibution to total global
warming.

(A). CHy

(B). N,O
(©). €O,
(D). CFCs

Choose the correct answer from the options given below:

Options :

68019146357. 1
68019146358. 2
68019146359. 3

68019146360. 4

Question Number : 15 Question Id : 68019111758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafaiad 717 5139 7141 1 ol YHS g a9 (aiad aiiT) § S TRIEH & 3FER
96d PH H FaiYd Y

(A). CHy
(B).N,O
(C). CO,
(D). CFCs
A< fEu T fasedi 4 Tt S -
L (C). (A). (B). (D)
2.(B). (D). (A). (C)
3. (D). (B). (A),(C)
4.(C). (B). (D). (A)
Options :

68019146357. 1
68019146358. 2
68019146359. 3

68019146360. 4



Question Number : 16 Question Id : 68019111759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" qa . ] . ] . 3 ' v g
Absolute humidity in ambient air at a given temprature T is 3 g/m’. Maximum absolute humidity

at same temeprature T is 10 g.'1113.
What will the relative humidity at the same temperature T?

1. 3%

2.0.3%

3.3.3%

4. 30%
Options:
68019146361. 1
68019146362. 2
68019146363. 3

68019146364. 4

Question Number : 16 Question Id : 68019111759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.3%

2.0.3%
3.3.3%
4.30%

Options:

68019146361. 1
68019146362. 2
68019146363. 3

68019146364. 4



Question Number : 17 Question Id : 68019111760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The zone of atmospheric window falls in the wavelength range of

.0.4t0 0.7 pm
.8 to 12 mm
.8to 12 um
4.1to3 um

o I —

Options :

68019146365. 1
68019146366. 2
68019146367. 3

68019146368. 4

Question Number : 17 Question Id : 68019111760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

argHe T st &1 éF ot qor e Fr s g

8d 12 Lm
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Options :

68019146365. 1
68019146366. 2
68019146367. 3

68019146368. 4

Question Number : 18 Question Id : 68019111761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Tvpes of Scattering) (Example)
A |Ravleigh scarten'ng- I. |Haze
B. |Mie scattering II. |Blue Sky
C. |Non-selective scattering| I11. |Scattering of low intensity light by electron
D. |Thomson scattering IV |Cloud appears white

Choose the correct answer from the options given below:

1. (A) - D). (B) - (). (C) - (IV). (D) - (III)
2. (A) - (I). (B) - (III). (C) - (II). (D) - (IV)
3.(A)- (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (II)

Options :

68019146369. 1
68019146370. 2
68019146371.3

68019146372. 4

Question Number : 18 Question Id : 68019111761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 SR FT-I1 B GHITT DY -
o | -1
mﬁvﬂm @Q};m
A [ USIvE L (e
B. (A1 UHivH 1. |Hte srggH
C. [TR-FU-IHE YaiviH| 1L [Fcigei- gR1 &H digdl ard YabT=I &l JaioH
D. |4HET UP 0 IV. |[ST6T @1 9 faaTg ol

i< feu e faeedl § 4 |gt SR -

L. (A) - (II). (B) - (I). (C) - (IV). (D) - (III)
2. (A) - (I), (B) - (II1). (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (IT). (C) - (IV). (D) - (ITT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options:



68019146369. 1
68019146370. 2
68019146371. 3

68019146372. 4

Question Number : 19 Question Id : 68019111762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Soil Type) {(Chracteristics)
A |Oxisol I. |Acid soil with leached uppr hoizon
B. |Spodosol II. |Young soils with no horizon
C. |Entizol I |Clay rich oils
D. [Vertizol IV, |highlv weathered tropical and sub-tropical soils

Choose the correct answer from the options given below:

. (A) - (III). (B) - (IT). (C) - (I). (D) - (IV)
. (A) - (IV). (B) - (II). (C) - (1), (D) - (III)
- (A)- (). (B) - (II). (C) - (IV). (D) - (I1I)
A(A) - (IV).(B) - (I). (C) - (II). (D) - (III)

Options :

|

e g

68019146373. 1
68019146374. 2
68019146375. 3

68019146376. 4

Question Number : 19 Question Id : 68019111762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! 11 i 11 F e wifore

I I
A |sieEEE 1 |Fenféa Sud d%R & Ty iy fae
B. [wisMd 11 |fo=1 U%ae @ e v fig]
c. [efeTra 1L |Faers 9 W@ fHed
D |[aféa@ IV. | e SWidmicady 3R IU- 3w e g
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1. (A) - (ITI). (B) - (II). (C) - (I). (D) - (IV)
2.{A)-({1IV),(B) - {II),(C) - (). (D) - (II)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (IV). (B) - (I). (C) - (II). (D) - (III)

L)

Options :

68019146373. 1
68019146374. 2
68019146375. 3
68019146376. 4

Question Number : 20 Question Id : 68019111763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PM,  stands for Particulate matter having particles smaller than or equal to10 um, with respect

to the particle characteristics 10 um represents

1. radus of the particle

2. Length of the particle

3. Aerodynamic diameter of the particle
4. Wavelength of the particle

Options :

68019146377. 1
68019146378. 2
68019146379. 3
68019146380. 4



Question Number : 20 Question Id : 68019111763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PM; o 10um ¥ BIC 31 SRIGR B aTd DU gerd o fo7T SUged Bidl 5. B &1 [aQweahi &
ey 10um BREREGEGIE

1. U1 &1 fAeE]
2. B DI Ty
3. U I AP g

4, U P R

Options :

68019146377. 1
68019146378. 2
68019146379. 3

68019146380. 4

Question Number : 21 Question Id : 68019111764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement

1. Rising air expands and cools

2. Moist air rises to lower height compared to hot air under adiabetic conditions
3. Sinking air will compress

4. Moist air cools and expands slowly than warm air under adiabetic conditions

Options :

68019146381. 1
68019146382. 2
68019146383. 3

68019146384. 4

Question Number : 21 Question Id : 68019111764 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TTeld SY I T -
1. §gdil g1 ! & AR el Bkl g
2. TG ORI o 7 5a1 1 g 1 3% 501 HH GdTg a 364l o
3. &l ga1 gl gl et i
4. SG URRUTCT & 78 591 31 qa- H i gal UR-61R 331 81l § 3R bad| o

Options :

68019146381. 1
68019146382. 2
68019146383. 3
68019146384. 4

Question Number : 22 Question Id : 68019111765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following zones in a lake will have maximum nutrient and minimum dissoved
oxygen?

1. Littoral zone

2. Profundal zone
3. Benthic zone
4. Epitlimnion

Options:

68019146385. 1
68019146386. 2
68019146387. 3
68019146388. 4

Question Number : 22 Question Id : 68019111765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafarad @ 9 sitd & o9 &7 1 sideay Ui dd SR gAad [dufcd sieier gt

1. fereRar &=

2. Wpsa &

3. 4fe &7

4. Qm NIENE
Options :
68019146385. 1
68019146386. 2
68019146387. 3

68019146388. 4

Question Number : 23 Question Id : 68019111766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mission LiFE was proposed by India in

1. Paris convention held in the year 2015

2. Conference of Parties-26 held in Glassgow m the year 2021
. G-20 presidency period in the year 2023

4. Conference of Parties-27 held in Egypt in the year 2022

L)

Options :

68019146389. 1
68019146390. 2
68019146391. 3

68019146392. 4

Question Number : 23 Question Id : 68019111766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



=M LiFE ®1 YRd gRI TR Tiad o T ot

1. 99 2015 § amgiforg o e o

2. a9 2021 B @R § AN coP-26 T §
3. a9 2023 T ©t-20 DI eHear afd o

4. a9 2022 § i o amaifeid cop-27 9@ 8

Options :

68019146389. 1
68019146390. 2
68019146391. 3

68019146392. 4

Question Number : 24 Question Id : 68019111767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A narrow whitish ring with a large diameter centered on the sun is referred to as

1. Corona

2. Glory

3. Halo

4. Sun Pillar

Options :

68019146393. 1
68019146394. 2
68019146395. 3

68019146396. 4

Question Number : 24 Question Id : 68019111767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T R Bigd U 3 o & 91y U S0 9ihe aad bl &gl ofldl o

Options :

68019146393. 1
68019146394. 2
68019146395. 3
68019146396. 4

Question Number : 25 Question Id : 68019111768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of one of the most violent weather disturbance that occurs
on the earth?

1. Typhoons
2. Hurricane
3. Squall line
4. Tornadoes

Options :

68019146397. 1
68019146398. 2
68019146399. 3
68019146400. 4

Question Number : 25 Question Id : 68019111768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrafcRad & § -9 92l W g ald 964 {90 9199 (deiy 0 3 U &1 el 57

1. CIgp
2. T (Hurricane)
3. SUDIAD HHA (Squall linc)

4,948 (Tornadoes)
Options:
68019146397. 1
68019146398. 2
68019146399. 3
68019146400. 4

Question Number : 26 Question Id : 68019111769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{Climate) (Characteristics)
A |Tropical I. |Humid, Warm Summer
B. |Drvlands II. |Ice caps
C. |Sub Tropical |IIL |Steppe
D. |Polar IV, |Rainforest

Choose the correct answer from the options given below:

L. (A) - (). (B) - (I). (C) - (III). (D) - (IV)
2. (A) - (IV). (B) - (ITT). (C) - (I). (D) - (II)
(A) - (). (B) - (I). (C) - (IV). (D) - (II)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

e faa

Options :

68019146401. 1
68019146402. 2
68019146403. 3

68019146404. 4

Question Number : 26 Question Id : 68019111769 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 11 =i 11 ° A Siforg
I 1L
Searg
A [SurmieEdg I |ams, T @
B. (I Y 1L [fH R
C. [Fuswefedsiim| nr (a9 &1 d3gH
D. |ydig IV, |[aui &
frafafad fawedl § 3 98t 9Tk &1 999 BIfoI
1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)-(IV).(B) - (II). (C) - (I). (D) - (II)
3.(A) - (I). (B) - (I1). (C) - (IV). (D) - (IIT)

4. (A) - (). (B) - (IV). (C) - (I). (D) - (II)
Options :
68019146401. 1
68019146402. 2
68019146403. 3
68019146404. 4

Question Number : 27 Question Id : 68019111770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The process of aging of lakes/ ponds (cultural Eutrophication) is primarily caused by

1. reduction in precipitation

2. excessive nutrient input to lake or ponds over short period
. input from acid rain

4. deforestation along the lake and ponds

LN}

Options :

68019146405. 1
68019146406. 2
68019146407. 3



68019146408. 4

Question Number : 27 Question Id : 68019111770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il dTeTal @1 Y ge- @1 Wikl (Wipia® i) To WU § Fufafad 3 e
g glaT g 2

1.9 § T
2. BIet 3@y o 3fie a1 ararel § S{id UIve ddl &l a9
3. ol et @
1. 3 AR ST & [FR T @1 e
Options:
68019146405. 1
68019146406. 2
68019146407. 3

68019146408. 4

Question Number : 28 Question Id : 68019111771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Koppen classification is based on

(A). Monthly and average values of Temperature

(B). Monthly and average values of Evaporation

(C). Monthly and average values of Precipitation

(D). Monthly and average values of Evapotranspiration
Choose the correct answer from the options given below:

.(B) and (D) only.

. (A) and (C) only.

. (A). (B). (C) and (D).
4. (C) only.

|

L]

Options :
680191464009. 1
68019146410. 2



68019146411. 3

68019146412. 4

Question Number : 28 Question Id : 68019111771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B gIfip Ul FgfaRad § 9 g R anuia g 2
(A) dT9HM & HIRTS 3R 3d a9 )
(B) ATIHR0 & AR 3R igd A T
(C) T & AR 3R g AR R
(D) ATSIIcHo & HI® 3R 3i9d A9 W
-t feu T fowed! O gt SR I |
1. %ad (B) 3R (D)
2. %ad (A) AR (C)

3. (A). (B). (C) 3R (D)
4.®ad (C)

Options :

68019146409. 1
68019146410. 2
68019146411. 3

68019146412. 4

Question Number : 29 Question Id : 68019111772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements

(A). Earth undergoes three basic motions: yearly revolution around Sun, daily rotation on its axis
and a slow wobble of 1ts axis

(B). Precession is a slow wobbling of the axis as Earth spins

(C). Apparent solar day is twenty four hours as determined from mean solar time

(D). The event of time. noon. is the mstant the Sun appears to move across the celestial
meridian.

Choose the correct answer from the options given below:

only

D
C) only.

) and (D)
Jand (C)
) and (D).
) and (D) only.
Options :
68019146413. 1
68019146414. 2
68019146415. 3

68019146416. 4

Question Number : 29 Question Id : 68019111772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefed 3§ 3 9el oo -

(A) i i gfare] el § ToRd o gU & aRI R aite g9y, A K R 3D
FaDY 3R U e BT I |

(B) T g2l & G U ofef 1 e fRe T |

(C) W& IR fe, siard R gmg @ Fuffq, S @ araiar gl

(D) TG BT G, UGN, I6 01 § o1 T Gviicird Hfeen] & UR dedl gol s aal ol
el feU U ool 4§ gt S A |

Options :
68019146413. 1
68019146414. 2

68019146415. 3



68019146416. 4

Question Number : 30 Question Id : 68019111773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements.

(A). Transparent water can never be contaminated

(B). River water will have high dissolved oxygen in winter compared to summer
(C). Turbid water under sun light becomes warmer faster than clean water

(D). Pure water 1s a good conductor of electricity

1. (A). (B) and (C) only.
2. (A). and (C) only.

3. (B) and (C).

4. (A) and (D) only.

Options :

68019146417. 1
68019146418. 2
68019146419. 3

68019146420. 4

Question Number : 30 Question Id : 68019111773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad o O ggl oy 4|

(A) TR ot waft ot gfia e S apar g

(B) MTHT! & ga-1 & wiedl § =1 o urHl & 3ifte gasiia siferiis gt
(C) YU DI I H TieT g I gt F1 g & ol ¥ T g e gl

(D) Y& oI fa5yd &1 U@ 331 919 ¢

1. %ad (A). (B) 3R ()
2. %ad (A), 3R (O)
3.%dd (B) 3R (€)

4. B4 (A) 3R (D)

Options :

68019146417. 1



68019146418. 2
68019146419. 3

68019146420. 4

Question Number : 31 Question Id : 68019111774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements about earthquakes.

(A). Seismograph measures P. S and surface waves

(B). S and P waves leaves the focus of the earthquake esssentially at same time
(C). 8 waves moves faster than P waves and get separated from each other
(D). Shallow earthquake occur upto a depth of 70 km from earth surafce
Choose the correct answer from the options given below:

. (A). (B) and (C) only.
. (A). (B) and (D) only.
. (A). (C) and (D) only.
4. (B). (C) and (D) only.

|

L]

Options:

68019146421. 1
68019146422. 2
68019146423.3

68019146424. 4

Question Number : 31 Question Id : 68019111774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YU & e | HafRad 8 9 98l ouA 91

(A) YT P, S 3R Tdg a1 &I AT 3

(B) S 3R PRI U &l GHY H YU & g Dl 3Fad =0 J SIS &l 5
(C) S T P AT &1 qa-1 H diolt & Fad! § SR TH gax I Se ol offdll g |
(D) T2t BT Fg F 70 fraHier @ 6T a® U Y@ AT 3|

-9 feu Y fdeedl O 9 |8t SR 3|

1. %ad (A), (B) 3R (C)
2. %dd (A). (B) 3R (D)
3.%ad (A). (C) 3R (D)
4. %4d (B), (C) AR (D)

Options :

68019146421. 1
68019146422. 2
68019146423.3
68019146424. 4

Question Number : 32 Question Id : 68019111775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements about El-Nino.

(A). El-Nino 1s warm current in the Pacific ocean near the coast of Peru
(B). El-Nino 1s cold current in the Pacific ocean near the coast of Peru
(C). El-Nino 1s an example of atmosphere - ocean interaction

(D). El-Nino 1s equitorial counter current.

Choose the correct answer from the options given below:

1. (B) and (D) only.
2. (A). (B). (C) and (D)
3. (C) and (D) only:.
4. (A). (C) and (D) only

Options:

68019146425. 1
68019146426. 2
68019146427.3

68019146428. 4



Question Number : 32 Question Id : 68019111775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

El-Nino @ §R ¥ Hgl Y- I |

(A) El-Nino U%F & d¢ & IR 945 & 7TH YRT G|

(B) El-Nino U= & d¢ & U 99% 4 do! URI 3 |

(C) El-Nino dFHUST-HEMNFR 3c:(chdl 1 U Ia1e0l gl
(D) El-Ninofd¥adid WidWarg g |

-1 feu T fdeedl O 3 |t SR I |

1.%dd (B) 3R (D)

2. (A). (B). (C) 3R (D)
3. %dd (C) 3R (D)
4.9dd (A). (C) 3R (D)

Options:

68019146425. 1
68019146426. 2
68019146427.3

68019146428. 4

Question Number : 33 Question Id : 68019111776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reconstruction of past climates can be done using indirect evidence from
(A). Tree-growth rings

(B). Cobalt isotope ratio in ice core

(C). Oxygen 1sotope ratio in glacial 1ce

(D). Sulphur isotope ratio in ice core

Choose the correct answer from the options given below:

1. (A). (B) (C) (D)

2. (A) and (C) only.

. (A). (C) and (D) only.
. (B). (C) and (D) only.

e Taa

Options :
68019146429. 1

68019146430. 2



68019146431. 3
68019146432. 4

Question Number : 33 Question Id : 68019111776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t I STaary 1 G- FRiiRed O 8 69 sy 916 o1 SUaHT $idb fhar o
qHdl g ?

A) 34-gfg aog

B) 90 & GRHI H Plalec GHRIIHS SfUd

(C) fereln % H sffeiier THeId ourd

(D) T% & FRYF T Tehx GRS S0rd

14 fqu U fasedl € 98l SR

1.(A). (B) (C) D

W(
&Had (A). ( C;ah?LD
4 W(Es (C) 3R (D)

Options :

68019146429. 1
68019146430. 2
68019146431. 3

68019146432. 4

Question Number : 34 Question Id : 68019111777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

LISTI
(Natural Causes of Climate N ?—*ISde]LI o
Change) (Associated Activity)

1 Change 1n earth's long term

A |Plate tectonics ;
climate

Change in reflectivity of the

B. |Solar variability II.
' atmosphere

Fearrangement of the

C. |Variation m Earth's orbat | 111 '
Continents

D. |Volcanic activity IV. | Sunspots activity

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (I), (B) - (II1). (C) - (IT), (D) - (IV)

3. (A) - (IID). (B) - (II). (C) - (I). (D) - (IV)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)
Options :

68019146433. 1
68019146434. 2
68019146435. 3

68019146436. 4

Question Number : 34 Question Id : 68019111777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! 11 i 11 F e wifore

T 1 e
|STeraTg uiad= & UIpTd® SR GEERITIEIR)
A |we Gad® 1 g @t Ereirici siaarg | uikdoH
B. |4R gRad==ierd 1. |argHUS o1 WIdd-giedl H uRdad—
C. |gedl &1 el H uRac 111 [HRTE 0T 1 Ti16-
D. [waremE Tfafdfe IV. [gebrer feg Tfcifafe
fFafRad faeedl & T 98t 3Tk &1 999 HIfo

1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A) - (I). (B) - (ITI). (C) - (II). (D) - (IV)
. (A) - (III). (B) - (II). (C) - (I). (D) - (IV)
4. (A) - (II). (B) - (IV). (C) - (D). (D) - (II)

L)

Options :

68019146433. 1
68019146434. 2
68019146435. 3
68019146436. 4

Question Number : 35 Question Id : 68019111778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements

(A). Ozone depletion/ozone layer thinning in stratosphere occurs only over south pole

(B). Ozone depletion/ozone layer thinning i stratosphere does not occur over north pole

(C). Columner ozone in atmosphere is measured in 1/100 unit of mm

(D). Polar stratospheric clouds are largely responsible for ozone layer thinning over south pole
Choose the correct answer from the options given below:

.(B) and (D) only.
.(B) and (C) only.
3.(A) and (C) only.
4. (C) and (D) only.

D
C

Options :
68019146437. 1
68019146438. 2

68019146439. 3



68019146440. 4

Question Number : 35 Question Id : 68019111778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad o 9 951 Sy gH-
(A) THAY BT H IS &1 S/ SIS URd BT Udell oI Bad al&ul §d W aidl g |
(B) §HATY Hed H S i dHl/ SIS TRd &1 9dal o iH1 SRl 4d W 6! aldl g
(C) TIHUST I BIHR Sl Bl 1/100 o] B gapTg H A7 A1l 3
(D) 4d1T GHATHS TG S1&T SI&0T $fd TR SV TRd & Uefel €1 & e 1o g2 do
ﬁﬂﬂ‘c{l??l
-4 G U fawed! # ¥ 95l SR |
1. %ad (B) AR (D
2. %40 (B) 3R (C

3. Had (A) AR (C
4,940 (C) 3R (D

Options :

)
C)
C)
D)

68019146437. 1
68019146438. 2
68019146439. 3

68019146440. 4

Question Number : 36 Question Id : 68019111779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
Radiation Law (Equation)
Beer Lambert's Law I |Apax =0T
Wein's displacement law II. |oy =&k

Planks formula of low frequencies | III. [I= 1 =#&)

o[o[=]>

Kirchof's law V. |L=2c2 KT

oa

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (IIT). (C) - (I). (D) - (IV)
2. (A) - (I). (B) - (1II). (C) - (IV), (D) - (II)
3. (A) - (ITT). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (I). (C) - (1I). (D) - (IV)

Options:

68019146441. 1
68019146442. 2
68019146443. 3
68019146444. 4

Question Number : 36 Question Id : 68019111779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 SR Gl-11 &1 GEiferd Pe-
'ﬁ“zﬁélw I
A &R orsd @1 FEH L |tmax=b/T
B. |39 &1 fa=mE FaF IL |a; =k
C. [@5 gkl &1 & [ 1L 1= 1,54
D. |f&=E &1 a9 IV. [L=2C A *KT

- fau U fdenl 1 9§ 9ol SR I |

L. (A) - (1), (B) - (IIT). (C) - (II). (D) - (IV)
2. (A) - (). (B) - (IIT). (C) - (IV). (D) - (II)
3. (A) - (III). (B) - (D). (C) - (IV). (D) - (I)
4. (A) - (IIT). (B) - (I). (C) - (II). (D) - (IV)



Options :

68019146441. 1
68019146442, 2
68019146443. 3
68019146444. 4

Question Number : 37 Question Id : 68019111780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below 1s the concentration of CO, in the atmosphere in the last 11 years. Calculate the

mean and median concentration of CO,.

Year Concentration of CO; (in ppm)
2013 330
2014 340
2015 350
2016 360
2017 370
2018 380
2019 390
2020 400
2021 410
2022 420
2023 425

1. 390 and 370
2.379.54 and 370
3.379.54 and 380
4. 370 and 380

Options :

68019146445. 1
68019146446. 2
68019146447. 3

68019146448. 4



Question Number : 37 Question Id : 68019111780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 11 99 5 adeRv § o, F Wigd LTS & . co, B HIE R HiDI Fgal B
UM Y-

T CO, B TiEdT (ppm H)
2013 330
2014 340
2013 330
2016 360
2017 370
2018 380
2019 390
2020 400
2021 410
2022 420
2023 425
1.390 3R 370

5 379,543@;379
3.379.54 3R 380
4.370 3R 380

Options:

68019146445. 1
68019146446. 2
68019146447.3

68019146448. 4

Question Number : 38 Question Id : 68019111781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following periods of Paleozoic era in the correct order starting from older to
younger

(A).Cambrian

B). Devonian

C). Carboniferous

D). Permian

E). Silurian

Choose the correct answer from the options given below:

(
(
(
(

68019146449. 1
68019146450. 2
68019146451. 3
68019146452. 4

Question Number : 38 Question Id : 68019111781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIiGl g S FafcRad srafedl & QR I ddr T d% Jel A H 0aiyd &1
(A) DB

(B) SalfHu+
(C)
(D) Uffga
(E)
el fGu U faded! & § 951 SR |
1. (A). (E). (B). (D). (C).
2.(A). (C).(B). (D). (E)
3. (A). (E). (B). (C). (D)
4. (D). (C). (B). (E). (A).
Options :

68019146449. 1
68019146450. 2
68019146451. 3

68019146452. 4



Question Number : 39 Question Id : 68019111782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

 —

% 3 & 4 max min -
The two coherent sources of imtensity ratio  interfere. The value of Sy
+

max min

b2

Options :

68019146453. 1
68019146454. 2
68019146455. 3

68019146456. 4

Question Number : 39 Question Id : 68019111782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

diterdl 3UTd B &1 GEId |id A9 A S gU B | Imax = Imin o7 7 3

'lr!'ﬂ ax "r"'l-: n

=
-
+ <
Th"“| b

| ]

=l =

=R

(T

Ja+pB)

Options:



68019146453. 1
68019146454. 2
68019146455. 3

68019146456. 4

Question Number : 40 Question Id : 68019111783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A radio station which can tune i to 7.5 MHz to 12 MHz corresponds to the wavelenth band,

1.40mto2.5m
2.40mto25m

3 10mto25m
4. 1.0mto35m

Options :

68019146457. 1
68019146458. 2
68019146459. 3

68019146460. 4

Question Number : 40 Question Id : 68019111783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% o8] WYE W 7.5 MHz ¥ 12 MHz T% G100 % 96l 6. N G100 S g [t
AR EhIE,

1.40mY 25 m
2.40mY25 m
310 mY25m
41.0mY35 m

Options :

68019146457. 1

68019146458. 2



68019146459. 3

68019146460. 4

Question Number : 41 Question Id : 68019111784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The magnetic field of the earth is thought to arize due to

1. A bar magnet placed inside the earth
2. Iron in the crust

. Convective motion of metallic fluids in the outer core

4. Electric currents running through the mantle of the Earth

Taa

Options :

68019146461. 1
68019146462. 2
68019146463. 3

68019146464. 4

Question Number : 41 Question Id : 68019111784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

M1 S ¢ [ gt &1 a1y &7 Hafeiad ¥ ¥ {eyd SRu 3 gidl 62

1. 9l & 3R W T U &8 Jdd

2. R H qlgl

3. Q16 BRI o1 a¥a Uardl &1 Tag-l Tid

4. g%l & H[G0T o H1eHH F T arell faggd YR

Options :

68019146461. 1
68019146462. 2
68019146463. 3

68019146464. 4



Question Number : 42 Question Id : 68019111785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Standard deviation for first 10 even natural number is

. 1

. 7.74
3.5.94
4. 1148

Options:

b =

68019146465. 1
68019146466. 2
68019146467. 3
68019146468. 4

Question Number : 42 Question Id : 68019111785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

WY 10 9 W ldd T & U aHe faaa g-

A1

. 7.74
.5.74
4.11.48

Options :

faga B2 —

68019146465. 1
68019146466. 2
68019146467. 3

68019146468. 4

Question Number : 43 Question Id : 68019111786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Mean square deviation of a distribution 1s least when deviations are taken about

1. mean

2. median

3. mode

4. both mean and mode

Options :

68019146469. 1
68019146470. 2
68019146471.3

68019146472. 4

Question Number : 43 Question Id : 68019111786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[GeRT &1 ATed 7 fa9a- HH U ®H Bidl § oId (gl o a1 Sl § -

1. Hid

2. TIfeyepT

3. 9gdP

4, HIHH SH?EIEW gl

Options :

68019146469. 1
68019146470. 2
68019146471. 3

68019146472. 4

Question Number : 44 Question Id : 68019111787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 15 the mean of a set of 7 observations and 5 1s the mean of a set of 3 observations. the mean of
the combine set is

I ©
10
.85
4.72
Options :

b =

L)

68019146473. 1
68019146474. 2
68019146475. 3
68019146476. 4

Question Number : 44 Question Id : 68019111787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tf{%ﬁaﬂaﬂuﬁmmm%@h 3 VEfUTl & T3y &1 W1 5 6. WaloH 9y 1 el
G

S
.10
8.5
4.72

Options :

ol B —

68019146473. 1
68019146474. 2
68019146475. 3

68019146476. 4

Question Number : 45 Question Id : 68019111788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A statistical measure which can not be determuned graphically 13

. median

. mode

. harmonic mean
4, mean

b =

L]

Options :

68019146477. 1
68019146478. 2
68019146479. 3

68019146480. 4

Question Number : 45 Question Id : 68019111788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U% gifege g arg ol e w9 @ Ruia 781 fear sra@dr e -
1. TP
2. 95D
3. BldHP HIE]
4. 710
Options:

68019146477. 1
68019146478. 2
68019146479. 3

68019146480. 4

Question Number : 46 Question Id : 68019111789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An ogive 1s used to determine

1. mean

2. median

. mode

4. harmonic mean

L]

Options :

68019146481. 1
68019146482. 2
68019146483. 3

68019146484. 4

Question Number : 46 Question Id : 68019111789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

TS dR0T &1 39T a1 [Huffed & & fore fdsar srar g2

1. HI
2. HIfeP1
3. dgud

4. gUHSD HEHT
Options :
68019146481. 1
68019146482. 2
68019146483. 3

68019146484. 4

Question Number : 47 Question Id : 68019111790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If Coefficient of variance and the standard deviation of a distribution are 60 and 21 respectively
then their arithmetic mean 1s

1.35
5 2000

B

Fd
wal

3. 29
4. V3

(¥,

Options :

68019146485. 1
68019146486. 2
68019146487. 3
68019146488. 4

Question Number : 47 Question Id : 68019111790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e, fereart o1 0 3R WHD fawe HHe: 60 3R 21 ¢ 1 ST ApTOIdTa Hie [ &
TR AT

Options :

68019146485. 1
68019146486. 2
68019146487. 3

68019146488. 4

Question Number : 48 Question Id : 68019111791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For dealing with qualitative data the best average 1s

. Arithmetic mean
. Geometric mean
. mode

4. median

| I

L]

Options :

68019146489. 1
68019146490. 2
68019146491. 3

68019146492. 4

Question Number : 48 Question Id : 68019111791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OIS SIS § e & T 9ad 3T 3id &-
. 3{pTIOT ATl
S Arel

 SgaP
4, HTEEHT

Options:

fag B2 —

68019146489. 1
68019146490. 2
68019146491. 3

68019146492. 4

Question Number : 49 Question Id : 68019111792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The coefficient of correlation between X and Y 15 0.6. Their covariance 15 4.8, The vanance of X
1 9. Then the standard deviation of Y 15

4.3

3x06
0.6

Ix4.8
3

0.6x4.8
4.8

9% 0.6
Options :

68019146493. 1
68019146494. 2
68019146495. 3

68019146496. 4

Question Number : 49 Question Id : 68019111792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 3R Y & sid Fe8aY BT 0D 0.6 3 | 301 GeWERY 4.8 81 X PI fdeR0 9 §| 76 Y &
T fage &1 g

4.8

3x06
0.6

Ix4.8
3

0.6x4.8
48
" 9x0.6

Options :

| ]

68019146493. 1
68019146494. 2
68019146495. 3

68019146496. 4



Question Number : 50 Question Id : 68019111793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correlation coefficient between X and Y will have positive sign when

1. X 1s increasing and Y is decreasing
2. both X and Y are mecreasing

3. X 1s decreasing and Y 1s increasing
4. there 1s no changem X and Y

Options :

68019146497. 1
68019146498. 2
68019146499. 3

68019146500. 4

Question Number : 50 Question Id : 68019111793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
X SR Y & did Ie4a Ul P YPRIAD Jdvd ol ol6-

X9gWe AR YU I|IEl
X3RYSHId¢ "8
XUTIEI 8 IR YTE @ T
4. X AR vH &I gRad Tel &

Options :

fag b2 —

68019146497. 1
68019146498. 2
68019146499. 3
68019146500. 4

Question Number : 51 Question Id : 68019111794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The coefficient of correlation 1s independent of

1. change of scale only

2. change of origin only

. both change of scale and origin

4. netther change of scale nor change of originC

Taa

Options :

68019146501. 1
68019146502. 2
68019146503. 3
68019146504. 4

Question Number : 51 Question Id : 68019111794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geHay o1 ulie Hafaiad d ¥ g g Waa g -

1. ad UM &1 yRda
2. $ad gdl 1 gikad—
3. YA 3R g gl § gRacd

4,99 98 4 9Raa iR 7 81 ga & uRac
Options :
68019146501, 1
68019146502. 2
68019146503. 3
68019146504, 4

Question Number : 52 Question Id : 68019111795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kepler's laws deals with

(A). Law of orbits

(B). Law of periods

(C). Law of gravitation

(D). Law of areas

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (B) and (C) only.
4. (C) and (D) only.

Options :

68019146505. 1
68019146506. 2
68019146507. 3
68019146508. 4

Question Number : 52 Question Id : 68019111795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PR & 170 FEfkiigd § 9 feg WA e g 2
(A) D3 &1 HgH

1. ®dd (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3.%ad (B) 3R (C)
4.%ad (C) AR (D)

Options :

68019146505. 1
68019146506. 2
68019146507. 3

68019146508. 4



Question Number : 53 Question Id : 68019111796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In order to increase the resolving power of a telescope it is necessary to:

. increase the diameter of eye-peice
. decrease the diameter of eye-peice
. increase the diameter of the objective lens
4. decrease the diameter of the objective lens

I =

Taa

Options :

680191465009. 1
68019146510. 2
68019146511. 3

68019146512. 4

Question Number : 53 Question Id : 68019111796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

RAH oI [a1e Xidd o1 9gH & fou Hafiiad J 9 a1 31axas o

DT BT A FgIY
DT & U DI HH DY
RS -9 BT A gl

4. MWD A1 & A DI HH P

Options :

fag a3 —

680191465009. 1
68019146510. 2
68019146511. 3

68019146512. 4

Question Number : 54 Question Id : 68019111797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Tvpe of Processes) (Feature)
A |Adiabatic I. |Temperature constant
B. |Isochoric II. |Pressure constant
C. |Isobaric ITI. |Volume constant
D. |Isothermal IV, |No heat flow between the system and the surroundings

Choose the correct answer from the options given below:

1. (A) - ). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (III). (C) - (II). (D) - (IV)
3.(A) - (IV). (B) - (IT). (C) - (D). (D) - (III)
4. (A) - (IV). (B) - (IIT). (C) - (IT). (D) - (1)

Options:

68019146513. 1
68019146514. 2
68019146515. 3

68019146516. 4

Question Number : 54 Question Id : 68019111797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

! 1 1 g1 11 ¥ e Sifse

I 11
(uﬁo'mﬂe-ﬁﬁ$m. (P;i‘g’flrwn
A |FEH 1 |[amHHE RR®
Ta-adHd | I |gae RRiE
qouI® 111 |3aoH RS
gaardg IV, [F®E 3R 399" & &g ®is S5 94dIE el o

frafafad fdeedl & 3 98t SR &1 994 i .

1. (A) - (I). (B) - (I). (C) - (II). (D) - (IV)
2. (A) - (I). (B) - (ITI). (C) - (I). (D) - (IV)
3.(A) - (IV). (B) - (IT). (C) - (I). (D) - (III)
4. (A) - (IV). (B) - (III). (C) - (II). (D) - (I)

olo|w|s




Options :

68019146513. 1
68019146514. 2
68019146515. 3
68019146516. 4

Question Number : 55 Question Id : 68019111798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Discontinuity) (Boundary location)
A |Moho I. |Crust and Upper mantle
B. |Bepetti II. |Upper mantle and Lower mantle
C. |Gutenberg ITI. |Lower mantle and Outer core
D. |Lehmann IV. |Outer and Inner core

Choose the correct answer from the options given below:

(A) - (1. (B) - (II). (C) - (). (D) - (IV)
(A)- (D). (B) - (III). (C) - (I). (D) - (IV)
(A) - (D). (B) - (II). (C) - (IV). (D) - (IIT)
(A) - (II). (B) - (IV). (C) - (I). (D) - (II)

e L B2

Options :

68019146517. 1
68019146518. 2
68019146519. 3

68019146520. 4

Question Number : 55 Question Id : 68019111798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 1 1 i 11 F e wifore

el 1 el I
(SrHgET) TR
A |t 1 |9ds 3R U] &R
B. [U< 1L (Sl 1aRur R FHaersmasu
C. [reert TIL. | el SHTaR0 3R 916l fig
D. |dgdd 1v. [ared AR sffalke fag
FofaRad fasedl ¥ U I8l 3 &1 99 Hifor
1. (A) - (I). (B) - (I). (C) - (IIT). (D) - (IV)
2.(A) - (1. (B) - (IIT). (C) - (I). (D) - (IV)
3.(A)-(I). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)
Options:

68019146517. 1
68019146518. 2
68019146519. 3
68019146520. 4

Question Number : 56 Question Id : 68019111799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in order of their occurrence starting from land surafce to deep ocean.
(A). Abyssal Plains

(B). Continental Rise

(C). Continental Slope

(D). Continental Shelf

Choose the correct answer from the options given below:

Options :
68019146521. 1
68019146522. 2

68019146523. 3



68019146524. 4

Question Number : 56 Question Id : 68019111799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STHI s T ADR M6 HERITR T 3! HerT & HH H [HafeRad of orafud o |
A) Ufed HEH

(B) HETGIUM 931

(C) HRTGIIM Ga

(D) TRTGII 2fS

- feu T fosedl & 9 W61 SR |

et

A). (B). (C).
A C). (B).
(D). (C). (B).
A€,

e o O -

L LI M

B). (D).

.I_. _ulul—l
i i o o,
— e

—

—
-‘_,-‘-._,-f-\_.-f,_.-f
e

Options :

68019146521. 1
68019146522. 2
68019146523. 3

68019146524. 4

Question Number : 57 Question Id : 68019111800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an ocean. Pycnocline refers to a layer representing

1. Steep change in the density of the ocean
2. Steep change in the temperature of the ocean

L.u

1
1

. Steep change in the salinity of the ocean
4. Steep change in the biomass of the ocean

Options :
68019146525. 1
68019146526. 2

68019146527. 3



68019146528. 4

Question Number : 57 Question Id : 68019111800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wwff Pyenocline U YId HT Y dHTed T %’

1. HE9R & 9-icd § dfg gRadq

2. HE9IR & d199E | dig gRkadd
3. eNITR &1 @aurar ¥ dtg gRadH
4. HeNIMR & WfdemyR ¥ dig aRkadq

Options:

68019146525. 1
68019146526. 2
68019146527. 3
68019146528. 4

Question Number : 58 Question Id : 68019111801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
: s " R g : :
The general solution of the differential equation Eﬂ = ¢ +2x"e” is (Where C is an arbitrary
X
constant)

lLé=+x"+C
y

"1' =y
e = +—+(
2

| ]

L =440+ C

4.8 =45+ +C
Options :
68019146529, 1

68019146530. 2



68019146531. 3
68019146532. 4

Question Number : 58 Question Id : 68019111801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fate® qHia fé'l = ¢ +2x e BRI GHIYH F 8 3| (51 C U6 WP
X
WS B )

L.d=e"+t3"+C
4

R -
& =& +—+(
2

[ )

3.8 =48+ +C

4.8 =48 +x +C
Options:
68019146529. 1
68019146530. 2
68019146531. 3

68019146532. 4

Question Number : 59 Question Id : 68019111802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the order of the differential equation y° Q +4 d_L +y=01sa, then2a+31s
dx” dx
1.7
2.9
L
4.3
Options :

68019146533. 1

68019146534. 2



68019146535. 3
68019146536. 4

Question Number : 59 Question Id : 68019111802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ofg faued gHidm x-‘ﬂw@ﬂ _ 0PI PH gl d9 20+ 3 foTd W& B

dx* dx

LAV T
faa L MO -]

4,
Options :
68019146533. 1
68019146534, 2
68019146535. 3
68019146536. 4

Question Number : 60 Question Id : 68019111803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol

1. p=0egpa=agy
2ox=3, y=2
3.x—-3.9=09
4.x=9,y=-2
Options :

68019146537. 1
68019146538. 2
68019146539. 3

68019146540. 4



Question Number : 60 Question Id : 68019111803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oo}

1, p= =g
2ix=3, y=12
X3 ¥=09
4.x=9,y=-2
Options:

68019146537. 1
68019146538. 2
68019146539. 3

68019146540. 4

Question Number : 61 Question Id : 68019111804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 a —b
The value of the determinant A= |—q 0 —c 15,
&b e D
l.(atb+¢)?
2.a+b+ic
3.(a=b)(b—<)(C=-a)
4.0
Options :

68019146541. 1
68019146542. 2
68019146543. 3

68019146544. 4

Question Number : 61 Question Id : 68019111804 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 a -b
FYR® a=|-a 0 —c|PTTH Gl
b ¢ 0
l.(a+b+e)?
2 a+bte
3.(a—b)(b—c)(C-a)
4.0
Options:

68019146541. 1
68019146542. 2
68019146543. 3
68019146544. 4

Question Number : 62 Question Id : 68019111805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=3z, -m<x<0) o , . =R T
Let g(x) = + be a periodic function of period 2. The coefficient of sin3x in
I, O<x<r ]

the Fourier series expansion of g(x) on the mterval [-m.x.] 1.

aa P —
LS I SN

4. 4x
Options :

=y

68019146545. 1
68019146546. 2
68019146547. 3

68019146548. 4

Question Number : 62 Question Id : 68019111805 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-% e r= ”1 Y 3 ) :
0 gy =4 "L g oradll b U 3Tade BT R 1 ofx) B [—nn.] SR W

Ir, (}i:x{:rj

Eﬁﬁ?ﬂ W d%IR (Fourier series expansion) ﬁsmi.\fﬁ! Ufich &1 BT

Options :

68019146545. 1
68019146546. 2
68019146547.3
68019146548. 4

Question Number : 63 Question Id : 68019111806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g . 1 .
The inverse Laplace transform of —— i1s.
5(5° + w?)

sinwt
1.

o

= (1 — coswt)

1::
3. —(1 - coswt)
w

T
(1 —sinwt)

e
Options:
68019146549. 1
68019146550. 2
68019146551. 3
68019146552. 4

Question Number : 63 Question Id : 68019111806 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EE NI R A p k) ;}W FIGhH AT F IR0 2

s(s<+w

sinewt
1.

IEA.J

| )

=(1— coswt)
W

L]

1
. —(1 — coswt)
W

4. :: (1-sinwt)
Options :
68019146549. 1
68019146550. 2
68019146551. 3
68019146552. 4

Question Number : 64 Question Id : 68019111807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the centre of the circle X2 —}2 —4x — 8y — 45 = 0 1s (a.b). then the value of 3a +2b is.

Options :

68019146553. 1
68019146554. 2
68019146555. 3

68019146556. 4

Question Number : 64 Question Id : 68019111807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
g 2 112 — 4x— 8y — 45 = 0 T DI & (o) B, Al 3a+25 BIHAH e.

o b —

4. 14
Options :
68019146553. 1
68019146554. 2
68019146555. 3
68019146556. 4

Question Number : 65 Question Id : 68019111808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The real numbers a and b if (@ — i5)(3 + 51) is the conjugate of =0 —24 _are :

1L.a=3h= 3
2. a==3.b=3
3.a=3h=-2

4. a=-2b=-3
Options :
68019146557. 1
68019146558. 2
68019146559. 3

68019146560. 4

Question Number : 65 Question Id : 68019111808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e (a— ib)(3 + 5i) BT YPH —6 —24 & ol dididd &L 2 3R b8

l.a=3.b=-
2.a=-3.b=
J.a=3.b=-2
4. a=-2b=-3
Options :

68019146557. 1
68019146558. 2
68019146559. 3
68019146560. 4

Question Number : 66 Question Id : 68019111809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A and B are two sets such that 4 U B has 20 elements. A has 10 elements and B has 17
elements. Then the number of elements in 4 1 B 1s.

b =

| SIS R, T

S

Options:

68019146561. 1
68019146562. 2
68019146563. 3

68019146564. 4

Question Number : 66 Question Id : 68019111809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UCASR BRI Eggg ol b 4uBT 20d@s. AT 1008 ARBH 170@ | d9.4 N
B dal 3 A § 7

Tl by
b o =] Lh

4.
Options :
68019146561. 1
68019146562. 2
68019146563. 3

68019146564. 4

Question Number : 67 Question Id : 68019111810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If y"+y+5y=6, v(0)=0. v'(0)=0 then the Laplace Transformation Y(s) of solution y(t) of the
differential equation is equal to

6

524545
3
s+ (57+5)

6

3...1—
s(s“+5+45)
5

s%(s?+5+5)

| -

Options :

68019146565. 1
68019146566. 2
68019146567. 3

68019146568. 4

Question Number : 67 Question Id : 68019111810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qld y'+y'+ Sy =6, y(0) = 0. y'(0) = 0 1. 59 g e FHIDU & FHIYM y(t) Bl A
SR Y(s) fdads sRIaR g

6
52 +5+5
g = g
s+(s2+5)
6
3..1—
5(s°+5+5)
i 5
s (sP+s5+5)

Options :

68019146565. 1
68019146566. 2
68019146567. 3

68019146568. 4

Question Number : 68 Question Id : 68019111811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are statistical techniques for data pre-processing?
(A). Measures of variability

(B). Sructured querying

(C). Substring pattern matching

(D). Central tendency

Choose the correct answer from the options given below:

. (A). (B) and (C) only.
.(B) and (C) only.

. (A). (B). and (D) only.
. (A) and (D) only.

o =

e faa

Options :

68019146569. 1
68019146570. 2
68019146571. 3
68019146572. 4

Question Number : 68 Question Id : 68019111811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{iebsT gd -HuIrdl & ey FHafafed d 9 o i gifeasia do-ie g2
(A) uftgaaeiiear & Su™ (Measures of variability)

(B) TR tg:if@ (Sructured querying)

(C) ﬂaﬁfﬂ fEret (Substring pattern matching)

(D) ﬁ_‘q‘;ﬂﬁf (Central tendency)

- feu e fd@enl O 9 9ol SR I |

1. %ad (A). (B) 3R (C)
2. %ad (B) 3R (C)
3.%4d (A). (B). IR (D)
4. %ad (A) 3R (D)
Options :
68019146569. 1
68019146570. 2
68019146571. 3

68019146572. 4

Question Number : 69 Question Id : 68019111812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In context of traditional file system, which are considered to be the limitations that eventually
motivated the emergence of database management system?

(A). Data redundancy

(B). Data independence

(C). Data inconsistency

(D). Data 1solation

Choose the correct answer from the options given below

.(A). (B) and (D) only.
.(A). (B) and (C) only.
(A). (C) and (D)
(B). (C) )

) and (D) only.
B)

-31 and (D) only.
Options :
68019146573. 1
68019146574. 2

68019146575. 3



68019146576. 4

Question Number : 69 Question Id : 68019111812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JRURS Ufdas ol & Ga H, fobet dimrafl 1 $ida: aHiesIeNyR YatH Jurel & 3gd
I URA D el AT 7T S 62

(4) 3G R

| )

=

‘\—_—"'_
e, B e, W e

E

g3

4 armm CNﬁT

Options :

o

68019146573. 1
68019146574. 2
68019146575. 3
68019146576. 4

Question Number : 70 Question Id : 68019111813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given uniform resource locator, correctly identity the domain name.
https://www.cuet. gov.in/exam/paper.html

. paper.html

. www.cuet.gov.in

. https://wawnw.cuet.gov.in
4. gov.in

| R

L]

Options :
68019146577. 1



68019146578. 2
68019146579. 3

68019146580. 4

Question Number : 70 Question Id : 68019111813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST 10 g 918 didber 8, SIHC 11 & ol UgdH |

https://www.cuet. gov.in/exam/paper.html

. paper.html

. Www.cuet.gov.in

. https://www.cuet.gov.in
. gov.in

faad o —

e

Options :

68019146577. 1
68019146578. 2
68019146579. 3
68019146580. 4

Question Number : 71 Question Id : 68019111814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider following with respect to a network interface card used for communication.
(A). It 1s also called an ethernet card

(B). It 1s an mstance of a network router

(C). Data transfer rate 1s between 10 Mbps to 1 Gbps

(D). Each network mterface card is associated with a unique MAC address

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3.(B). (C) and (D) only.
4. (A). (C) and (D) only.
Options :

68019146581. 1



68019146582. 2
68019146583. 3

68019146584. 4

Question Number : 71 Question Id : 68019111814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TaR & 70 ST0 foFU O 918t ead Sexid ®Io(NIC) & ey § Hafifdd | [daR
Gy

A WERAe P Hagramegl

(B)ﬂ?@ﬁeaéimﬁwm%

(C) ST GHPR G 10 Mbps T 1 Glps 4T ¢

(D) U eadh ety BIS U 3igaid Ha Ud U 931 oIl g

i feu e faeedl o 9 I5l SR |

1. %9 (A), (B) 3R (D)
2. %ad (A). (B) 3R (C)
3. %ad (B). (C) IR (D)
4.%ad (A), (C) 3R (D)

Options :

68019146581. 1
68019146582. 2
68019146583. 3

68019146584. 4

Question Number : 72 Question Id : 68019111815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following milestones towards the evolution of networking
(A). Emergence of world wide web (WWW)

(B). Use of TCP/IP as standard network protocol

(C). Launch of ARPANET by UCLA

(D). Introduction of 802.11 communication standard
Choose the correct order of the events from old to recent:

1. (A). (B). (C). (D).
2.(C). (B). (A). (D).
3.(B). (A). (D). (C).
4.(C). (B). (D). (A).

Options :

68019146585. 1
68019146586. 2
68019146587. 3
68019146588. 4

Question Number : 72 Question Id : 68019111815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i & faer $1 gz & Fafifad ger gesi | fdaR a-
(A) TCS AI5S dd & 344 (WWW)

(B) UM cdd YeRER & &9 H TCP/IP B IR

(C) UCLA §RT ARPANET & JHRH

(D) 802.11 HHR H-P B 37

R Y ABR 81 DI 131 BT Tl v H I

1. (A). (B). (C). (D).
2. (C). (B). (A). (D).
3.(B). (A). (D). (C).
4.(C). (B). (D). (A).

Options :

68019146585. 1
68019146586. 2
68019146587. 3

68019146588. 4



Question Number : 73 Question Id : 68019111816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a valid malware identification method used by antivirus software?

1. Signature based detection

2. Iris based detection

3. Abusive language detection
4. Copyright violation detection

Options :

68019146589. 1
68019146590. 2
68019146591. 3

68019146592. 4

Question Number : 73 Question Id : 68019111816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Wﬁ@ﬁﬁ@wﬁWmWﬁmaﬁwﬁuWW
Dk,

1. BIIER 3TN YgdH
2. IMERY SMyTRd IgdH
3. YA HTST P Gell T
4. FTUT Ieeig Bl Gal Tl

Options :

68019146589. 1
68019146590. 2
68019146591. 3

68019146592. 4

Question Number : 74 Question Id : 68019111817 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the appropriate file type employed for storing and managing fully structured data
workstations.

. cascading stylesheet

. rich text format

. comma separated values

. graphics interchange format

B

Options :

68019146593. 1
68019146594. 2
68019146595. 3

68019146596. 4

Question Number : 74 Question Id : 68019111817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PR U § O X8 4 SR AP S| B GUsId B SR Yaled P & e o
S Ufdies; & YR Pl Iga B

1. 1Y JuTTel

2. 955 U168 UR=Y

3. 3e9ia™ I faqiid 9=

4, TG SHIGH-YEH Uy
Options :

68019146593. 1
68019146594. 2
68019146595. 3

68019146596. 4

Question Number : 75 Question Id : 68019111818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Following are the major stages in software development life cycle.
(A). Performance Evaluation

(B). Development and Testing

(C). Data Analysis and Design

(D). Implementation Phase

Choose the correct order of the stages from the options given below:

1. (A). (B). (C). (D).
2. (C). (B), (D). (A).
3.(B). (A). (D). (C).
4. (C). (B), (A), (D).

Options :

68019146597. 1
68019146598. 2
68019146599. 3

68019146600. 4

Question Number : 75 Question Id : 68019111818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GreeddR [q T i = § Hafaied 8 9 9gd R g
(A) fsaTe gegia

(B) [a&rT SIR wiem

(C) BT fa=ATUT 3R U=y

(D) BT TR

- fau e faedl § 9§ =Rl &1 9t 34 I

1. (A). (B). (C). (D).
2. (C). (B). (D). (A).
3.(B). (A). (D). (O).
4.(C). (B). (A). (D).

Options :

68019146597. 1
68019146598. 2
68019146599. 3

68019146600. 4



